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Question 3 
 
4 points (1 + 1 + 1 + 1) 
 
(a)  1 point: 

• One point is earned for stating that real GDP will fall and the price level will rise, because the 
increase in the price of oil raises input costs and causes the short-run aggregate supply curve to 
shift to the left. 

 
(b)  1 point: 

• One point is earned for stating that real GDP will rise and the price level will fall, because the 
increase in labor productivity reduces unit input costs and causes the short-run aggregate supply 
curve to shift to the right. 

 
(c)  1 point: 

• One point is earned for stating that real GDP will rise and the price level will rise, because the 
increase in spending causes the aggregate demand curve to shift to the right.  

 
(d)  1 point: 

• One point is earned for stating that real GDP will rise and the price level will rise, because the 
depreciation of the currency will cause net exports to rise and the aggregate demand curve to shift 
to the right. 
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Question 3 
 
Sample: 3A 
Score: 4 
 
The student earned all 4 points for this question.  
 
Sample: 3B 
Score: 3 
 
The student lost 1 point in part (b) for failing to explain that the increased labor productivity results in 
lower per-unit costs and thus a rightward shift in the SRAS curve. 
 
Sample: 3C 
Score: 1 
 
The student earned 1 point in part (c) for correctly explaining the rightward shift in aggregate demand and 
for stating that this will increase both the price level and real GDP. 
 
 


